S.I.C.E.Society's Degree College of Arts, Science And Commerce

(Affiliated to University of Mumbai)

Jambhul Phata, Ambernath (W), Ambernath

Result Register (A.T.K.T. Exam.)

Repeater

SEMESTER: I

PROGRAMME: Bachelor of Commerce

Sr. No.	Roll No.	Seat No.	Name	(Intro	nerce-I duction o	& Fir	ıntancy ıancial gemen		Tools in iomics		nistrati Ethics	to Bu	duction siness stics-I	Etiqu	iness ettes & oorate	Nego Sł	tiation xills	Comn	iness nunicat Skills I	Know	lian /ledge stem		lian itution	Sp	orts	Total Marks	Sum CG	Credits Earned	SGPA	Grade
				IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30		SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	_	SEE 12/30]				
1	****	24001	SUVARNA SHAMANTH RAM SHYAMALA	\$08	\$14	\$10	\$12	08	12/30	\$08	14	\$15	\$12	\$08	\$12	\$09	\$12	08	14	\$08	\$12	\$08	\$13	\$12	\$12	241	90	22.0	4.09	Р
2	****	24007	SALUNKHE RAJ CHANDRAKANT VAISHALI	\$08	\$12	\$10	\$12	\$10	\$12	\$12	14	\$09	15	\$08	12	\$08	\$12	\$10	\$12	\$08	12	\$13	\$15	\$11	\$12	247	94	22.0	4.27	Р
3	****	24018	YADAV SUDHANSH SAMARJEET PRAMILA	\$10	\$12	\$08	12	\$10	12	\$15	\$13	\$08	02	\$08	\$12	\$08	\$12	\$10	12	\$08	\$15	\$12	\$12	\$10	\$12	233	84	20.0		F
4	****	24019	PRAJAPATI SUMIT JITENDRA LALMANI	\$11	12	\$08	00	\$10	14	\$16	\$12	\$08	00	\$09	\$12	\$10	12	\$11	\$12	\$08	\$15	\$14	\$14	\$10	\$12	230	80	18.0		F
5	****	24037	/ SHARMA HARSHITA KULDEEP MANJU	\$10	\$12	\$16	\$13	\$10	12	\$11	\$12	\$12	\$12	\$08	\$12	\$09	\$12	\$10	13	\$08	\$12	\$12	\$15	\$12	\$13	256	96	22.0	4.36	Р
6	****	24041	AMDANI ASJAD IQBAL FARZANA	\$11	\$12	\$08	ABS	\$08	13	\$14	14	\$09	12	\$09	\$12	\$09	12	\$10	\$12	\$08	\$15	\$13	\$16	\$12	\$14	243	90	20.0		F
7	****	24045	SHARMA HARSH KULDEEP MANJU	\$12	\$12	\$16	\$12	\$10	12	\$14	\$14	\$12	\$13	\$08	05	\$08	\$12	\$10	\$12	\$08	\$12	\$13	\$13	\$10	\$12	250	92	20.0		F
8	****	24060	CHAUHAN SANDESH DHANANJAY GUDDI	\$11	\$14	\$10	12	\$10	\$12	\$13	\$19	\$12	\$12	\$09	\$12	\$12	\$14	\$12	\$16	\$08	\$22	\$13	\$18	\$11	\$12	284	114	22.0	5.18	С
9	****	24061	BHARTI KRISHNA AKHILESH MEENA DEVI	\$12	\$12	\$08	\$12	\$10	\$12	\$15	\$14	\$14	04	\$08	\$12	\$08	\$12	\$10	\$12	\$08	\$20	\$14	\$12	\$10	\$12	251	90	20.0		F
10	****	24062	MESTRY NITESH SHIVRAM SNEHA	\$13	\$12	\$08	00	\$10	12	\$12	\$14	\$08	12	\$08	04	\$08	\$12	\$11	\$12	\$19	\$18	\$13	\$14	\$10	\$12	242	86	18.0		F
11	****	24068	AYYAPAN MANIKANTAN KRISHNAVENI	\$11	12	\$10	\$12	\$10	12	\$16	12	\$08	00	\$13	06	\$09	\$12	\$08	12	\$09	00	\$13	\$12	\$10	\$12	219	70	16.0		F
12	****	24071	BANSODE JAYESH PANDURANG MAHADEVI	\$12	13	\$10	\$12	\$10	18	\$11	14	\$08	00	\$08	05	\$08	\$12	\$10	\$12	\$10	12	\$12	15	\$08	12	232	82	18.0		F
13	****	24074	DAUNDE ASHISH DAVID SHILPA	\$11	\$12	\$10	\$15	\$10	12	\$12	\$12	\$14	\$12	\$08	\$12	\$10	\$12	\$10	\$13	\$08	\$12	\$13	\$13	\$08	13	252	94	22.0	4.27	Р
14	****	24075	SHAIKH MOHAMMED MEHEBOOB NASIR RAMLATH	\$13	00	\$08	00	08	05	\$14	\$13	\$08	00	\$08	\$12	\$08	\$12	\$10	12	\$08	16	\$14	\$16	\$10	\$12	207	64	14.0		F
15	****	24081	ADHIYYA RAJESH VIMALA	\$12	13	\$08	ABS	\$10	04	\$12	\$12	\$08	00	\$08	04	\$09	12	\$10	12	\$09	12	\$14	\$16	\$08	12	205	64	14.0		F
16	****	24092	MANE PRANAV ANKUSH SAVITA	\$12	\$14	\$10	15	\$10	07	\$11	\$12	\$15	\$13	\$09	\$15	\$09	\$12	\$10	13	\$08	20	\$08	\$13	\$12	\$13	261	94	20.0		F

S.I.C.E.Society's Degree College of Arts, Science And Commerce

(Affiliated to University of Mumbai)

Jambhul Phata, Ambernath (W), Ambernath

Result Register (A.T.K.T. Exam.)

Repeater

PROGRAMME: Bachelor of Commerce EXAMINATION: March - 2025 SEMESTER: I

Sr. No.	Roll No.	Seat No.	Name	(Intro	nerce-I duction Fo	Accou & Fin Manaq	ancial	l i	Tools n omics		nistrati Ithics	to Bu	luction siness stics-I	Etique	iness ettes & orate	Nego Sk	tiation cills	Busi Comm ion S		Ind Know Sys	lian rledge tem	Ind Const	ian itution	Sp	orts	Total Marks	Sum CG	Credits Earned	SGPA	Grade
				IA	SEE	IA	SEE	IA	SEE		SEE		SEE		SEE		SEE				SEE			IA						
				8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30					
17	****	24093	GHADIGAONKAR SAHIL SANDEEP SANJANA	\$14	\$12	\$10	\$12	\$10	18	\$12	\$14	\$08	06	\$08	\$14	\$09	\$12	\$10	\$17	\$09	12	\$15	16	\$15	\$18	271	102	20.0		F
18	****	24097	TAMAICHIKAR NISHIT SHISHPAL SHEETAL	\$13	\$13	\$12	\$12	\$12	\$12	\$15	\$17	\$08	13	\$09	12	\$13	\$12	\$12	\$12	\$08	\$25	\$14	\$12	\$15	\$20	291	114	22.0	5.18	С
19	****	24104	KOTHIMBARE VISHAL VIJAY VISHAKHA	\$10	14	\$08	12	\$10	17	\$14	\$14	\$08	12	\$08	\$12	\$08	\$12	\$10	13	\$08	\$12	\$11	\$12	\$10	\$12	247	94	22.0	4.27	Р
20	****	24124	BANGAR MICHAEL RAJU POORNIMA	\$12	14	\$10	02	\$10	12	\$13	\$12	\$11	\$12	\$08	\$12	\$10	\$12	\$10	12	\$08	\$18	\$11	\$12	\$10	\$12	243	86	20.0		F
21	****	24135	PILLAY KARTIK SANJAYSWAMY LATA	\$12	\$12	\$10	12	08	\$12	\$13	\$16	\$12	\$14	\$08	\$16	\$10	\$12	\$10	\$13	\$08	\$15	\$10	\$15	\$13	\$16	267	100	22.0	4.55	Р
22	****	24138	ANSARI MOHAMMAD REHAN ARIF ASMA	\$09	14	\$18	12	\$08	12	\$13	16	\$10	15	\$09	06	\$11	14	\$10	16	\$08	18	\$11	16	\$10	\$12	268	100	20.0		F

S.I.C.E.Society's Degree College of Arts, Science And Commerce

(Affiliated to University of Mumbai)

Jambhul Phata, Ambernath (W), Ambernath

Result Register (A.T.K.T. Exam.)

Repeater

SEMESTER: I

PROGRAMME: Bachelor of Commerce

Sr. No.	Roll No.	Seat No.	Name	(Intro	nerce-I duction Fo		intancy ancial gemen		Tools n omics	Admir ve E		to Bu	luction siness stics-I	Etique	iness ettes & orate	Nego Sk	tiation ills	Comn	iness nunicat Skills I		lian rledge tem	Ind Const		Cul	tural	Total Marks	Sum CG	Credits Earned	SGPA	Grade
				IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30		SEE 12/30		SEE 12/30		SEE 12/30					
23	****	24002	/ BODA DEEPALI NARAYAN PADMA	\$10	12	\$16	\$12	\$10	12	\$12	\$16	\$09	12	\$08	\$12	\$09	\$12	\$10	\$12	\$08	\$14	\$13	\$12	10	12	253	98	22.0	4.45	Р
24	****	24005	/ KUDLOOR TRIVENI RAVI PADMA	\$10	12	\$15	\$14	\$10	\$12	\$11	\$12	\$10	\$13	\$08	\$12	\$08	\$12	\$10	12	\$08	\$12	\$12	\$12	\$12	\$12	249	92	22.0	4.18	Р
25	****	24008	/ KONE YALLAMMA AJAPPA SAVITRI	\$08	\$12	\$16	\$18	\$10	\$12	\$14	\$12	\$09	15	\$10	12	\$09	\$12	\$12	\$12	\$10	\$16	\$14	\$13	\$13	\$13	272	102	22.0	4.64	Р
26	****	24021	KOTA OM RAO SHRINIVAS RAO VENKATALAXMI	\$12	\$14	\$08	\$15	\$10	16	\$13	\$19	\$12	\$12	\$08	\$15	\$08	\$14	\$10	\$12	\$08	\$20	\$13	\$15	\$10	\$12	276	106	22.0	4.82	Р
27	****	24048	JADHAV RITESH DEVIDAS SUNITA	\$12	12	\$10	12	\$10	\$12	\$13	\$12	\$12	\$12	\$08	\$12	\$08	\$12	\$10	\$12	\$08	\$12	\$11	\$13	\$14	\$13	250	92	22.0	4.18	Р
28	****	24049	AHIRE DEVDAS CHANDRAKANT GEETA	\$13	12	\$16	\$12	\$10	\$12	\$13	\$18	\$13	\$15	\$08	\$12	\$08	\$12	\$10	\$12	\$09	\$16	\$14	\$12	\$17	\$18	282	116	22.0	5.27	С
29	****	24050	/ YADAV ANU AKHILESH NIRMALADEVI	\$12	\$15	\$15	\$12	\$10	21	\$12	\$20	\$10	\$12	\$11	\$17	\$11	\$13	\$10	\$16	\$11	\$17	\$13	\$17	\$15	\$12	302	122	22.0	5.55	В
30	****	24076	/ KOLI GAYATRI AMBRESH LAXMI	\$11	12	\$10	02	\$10	05	\$15	\$12	\$12	\$12	\$08	12	\$08	\$12	\$10	12	\$08	\$12	\$13	15	\$13	\$13	237	80	18.0		F
31	****	24078	/ KAILI KIRTI CHANDRASHEKHAR RENUKA	\$09	12	\$20	\$20	\$10	12	\$14	\$13	\$16	\$22	\$08	12	\$10	\$12	\$10	\$12	\$08	16	\$14	13	\$14	\$12	289	112	22.0	5.09	С
32	****	24079	GURINDAPALLI SATHVIK KUMAR SANGEETH BABU LATHA	\$10	\$12	\$16	\$13	\$10	16	\$13	\$12	\$17	\$23	\$09	\$12	\$09	\$12	\$10	\$12	\$10	12	\$13	\$12	\$11	\$12	276	108	22.0	4.91	Р
33	****	24084	/ KHAN BUSHRA NASIR HASINA	\$12	\$12	\$08	12	08	\$12	\$13	\$15	\$10	\$12	\$08	\$12	\$14	\$12	\$11	\$15	\$09	\$12	\$11	\$12	\$17	\$19	266	104	22.0	4.73	Р
34	****	24098	JHA SATYAM KUMAR AJAY KUMKUMDEVI	\$13	\$12	\$10	\$12	\$12	21	\$14	16	\$08	20	\$09	13	\$11	\$12	\$12	\$12	\$08	\$16	\$14	\$12	\$14	\$12	283	110	22.0	5.00	С
35	****	24101	/ KHAN SIFA PAPPU MEHRUNNISHA	\$12	\$14	\$18	\$12	\$10	\$12	\$13	\$12	\$12	\$13	\$16	12	\$12	\$12	\$11	\$12	\$10	\$13	\$13	\$12	\$17	\$19	287	114	22.0	5.18	С
36	****	24112	DADIPAL PAWAN TIMAPPA GANAMMA	\$09	\$12	\$12	01	08	06	12	\$12	\$08	\$14	\$08	\$12	08	12	\$08	12	\$08	\$12	\$14	\$14	\$10	\$12	224	76	18.0		F
37	****	24131	/ PACHPUTE POOJA RAJU MANGAL	\$09	\$18	\$08	12	\$08	\$16	\$12	\$13	\$11	\$13	\$08	\$12	\$10	\$12	\$10	\$15	\$08	\$12	\$13	\$16	\$15	\$16	267	104	22.0	4.73	Р

S.I.C.E.Society's Degree College of Arts, Science And Commerce

(Affiliated to University of Mumbai)

Jambhul Phata, Ambernath (W), Ambernath

Result Register (A.T.K.T. Exam.)

Repeater

SEMESTER: I

PROGRAMME: Bachelor of Commerce

Sr. No.	Roll No.	Seat No.	Name	(Introd	nerce-I duction To	& Fin	intancy ancial gemen	l i	Tools n omics		nistrati ithics	to Bu	luction siness stics-I	Busi Etique Corp	ness ettes & orate	Nego Sk		Comm	iness nunicat Skills I		lian rledge tem	Ind Const		DLLE sion	/Exten Work	Total Marks	Sum CG	Credits Earned	SGPA	Grade
				IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30					
38	****	24017	SARAVADE RITESH SUBHASH SUNITA	\$08	\$12	\$08	\$12	\$10	12/30	\$12	\$12	\$08	12/30	\$09	\$12	\$10	\$12	\$10	\$13	\$08	\$13	\$14	\$12	\$10	\$22	251	96	22.0	4.36	Р
39	****	24024	SHAIKH SALAHUDDIN AKHTAR SHAMIM	\$09	\$13	\$19	\$12	\$10	20	\$12	\$16	\$10	\$12	\$08	12	\$08	\$12	\$10	\$12	\$09	\$15	\$11	\$12	\$18	\$28	288	116	22.0	5.27	С
40	****	24025	MISHRA KARAN AJAY VANDANA	\$11	\$14	\$10	\$12	\$10	\$13	\$13	\$16	\$08	13	\$09	\$16	\$08	\$12	\$08	\$12	\$08	\$22	\$13	\$18	\$10	\$25	281	116	22.0	5.27	С
41	****	24042	/ PAL SONI BABARAM SUMAN	\$12	\$14	\$10	\$12	\$10	15	\$15	\$17	\$08	14	\$10	\$12	\$15	\$16	\$12	\$12	\$08	\$12	\$13	\$18	\$12	\$13	280	112	22.0	5.09	С
42	****	24044	REDDY LOKESH SATISH KIRTI	\$13	\$12	\$08	ABS	08	15	\$13	\$12	\$12	\$12	\$08	\$12	\$08	\$12	08	12	\$08	20	\$13	\$14	\$11	\$14	245	92	20.0		F
43	****	24067	/ YADAV NEHA LALJI URMILA	\$10	\$12	\$10	15	\$10	\$12	\$14	\$17	\$12	\$14	\$08	\$12	\$09	\$12	\$11	\$13	\$09	\$19	\$11	\$13	\$18	\$25	286	112	22.0	5.09	С
44	****	24082	/ TIWARI KHUSHI SUNIL SHALINI	\$13	\$12	\$10	12	\$10	12	\$11	\$15	\$12	\$12	\$08	\$12	\$08	\$12	\$10	\$12	\$08	14	\$12	\$12	\$12	\$22	261	98	22.0	4.45	Р
45	****	24083	/ DASAR PARVATI JAGANNATH PADMA	\$14	15	ABS	00	\$10	12	\$12	\$19	\$08	00	\$08	14	\$12	\$12	\$13	\$13	\$08	14	\$13	\$14	\$12	\$22	245	92	18.0		F
46	****	24091	/ RATHOD TANVI KISHAN KAVITA	\$11	\$12	\$12	12	\$10	\$12	\$13	\$12	\$14	\$13	\$09	\$12	\$09	\$12	\$10	\$12	\$08	13	\$12	\$17	\$15	\$25	275	106	22.0	4.82	Р
47	****	24094	PAWAR PARTH VIJAY SUJATA	\$15	18	\$10	\$12	\$10	18	\$13	\$12	\$11	12	\$08	12	\$08	\$12	\$10	15	\$09	12	\$14	16	\$10	\$20	277	114	22.0	5.18	С
48	****	24100	SANE SHANKAR LINGAPPA LAXMI	\$11	19	\$18	\$16	\$10	21	\$13	\$15	\$16	\$20	\$08	12	\$09	\$12	\$10	16	\$09	\$12	\$13	\$14	\$12	\$22	308	128	22.0	5.82	В
49	****	24110	SHAIKH REHAN SHABBIR RIZWANA	\$09	13	\$10	12	\$10	23	\$12	12	\$09	12	\$08	05	\$08	\$12	\$11	13	\$10	12	\$13	14	\$10	\$20	258	94	20.0		F
50	****	24116	GUPTA SUJEET RAJESH SUMAN	\$09	17	\$10	12	\$12	12	\$12	14	\$09	12	\$09	\$12	\$08	15	\$11	06	\$08	\$12	\$12	14	\$15	\$25	266	96	20.0		F
51	****	24117	/ PRAJAPATI ANTIMA ANTIMA BINDU	\$10	\$12	\$10	\$13	\$10	13	\$13	\$14	\$08	14	\$08	\$12	\$17	\$12	\$12	\$12	\$08	\$14	\$14	\$14	\$15	\$25	280	108	22.0	4.91	Р
52	****	24119	/ WADEKAR TANASHRI BHASKAR JYOTI	\$12	\$12	\$10	12	\$10	\$16	\$14	\$13	\$13	\$12	\$11	\$15	\$10	\$12	\$16	\$18	\$08	\$15	\$13	\$15	\$10	\$12	279	106	22.0	4.82	Р
53	****	24122	/ GAUTAM SHILPA SHILPA SANGEETA	\$10	\$16	\$10	ABS	\$10	12	08	\$12	08	\$12	\$08	\$12	\$10	\$12	\$10	\$14	\$10	\$12	\$10	\$16	\$15	\$25	252	94	20.0		F
54	****	24123	BHARADWAJ SOHAN SUDAMA PRAMILA	\$11	\$13	\$08	\$12	08	\$16	12	\$12	\$11	\$13	\$08	\$17	\$08	\$12	\$12	\$14	\$08	\$19	\$12	\$13	\$10	\$20	269	102	22.0	4.64	Р
55	****	24126	/ SHAIKH RIZWANA KALINDAR SHABANA	\$09	\$12	\$08	\$13	08	12	08	\$12	\$11	\$13	\$08	ABS	ABS	ABS	ABS	ABS	\$08	ABS	\$13	\$13	\$10	\$20	178	64	14.0		F
56	****	24127	/ MANE DNYANESHWARI AJAY ASMITA	\$11	12	\$10	12	\$08	\$12	\$12	\$15	\$11	\$13	\$09	\$12	\$13	\$12	\$10	\$12	\$09	\$12	\$14	\$14	\$16	\$26	275	106	22.0	4.82	Р

S.I.C.E.Society's Degree College of Arts, Science And Commerce

(Affiliated to University of Mumbai)

Jambhul Phata, Ambernath (W), Ambernath

Result Register (A.T.K.T. Exam.)

Repeater

PROGRAMME: Bachelor of Commerce EXAMINATION: March - 2025 SEMESTER: I

S N	- 1	Roll No.	Seat No.	Name	Comn (Introd	duction	& Fin	ıntancy ıancial gemen	i	n		nistrati Ithics	to Bus	siness	Etique	iness ettes & orate	Šk	tiation tills	Comn	iness nunicat Skills I	Ind Know Sys	lian /ledge stem	Ind Consti	an tution	DLLE,	/Exten Work	Total Marks	Sum CG	Credits Earned	SGPA	Grade
								SEE																							
					8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30					
Ļ	57	****	24129	CHANDALE PRITAM PAPPU SANTU	\$11	12	\$08	00	\$08	02	\$14	\$12	\$11	\$12	\$08	04	\$12	\$12	\$11	05	\$08	12	\$13	14	\$18	\$28	235	72	14.0		F
[!	58	****	24133	/ PAVITRA VEERAN KALVI	\$10	\$12	\$13	\$12	\$08	18	\$11	\$20	\$10	\$15	\$09	12	\$15	\$12	\$10	\$12	\$08	\$14	\$11	\$13	\$12	\$25	282	110	22.0	5.00	С
!	59	****	24136	/ JAISWAR NAJUK SURESH SUREKHA DEVI	\$13	\$12	\$10	02	\$08	\$12	\$12	\$21	\$13	\$15	\$10	07	\$10	ABS	\$10	12	\$09	\$15	\$12	\$14	\$18	\$26	261	88	16.0		F

S.I.C.E.Society's Degree College of Arts, Science And Commerce

(Affiliated to University of Mumbai)

Jambhul Phata, Ambernath (W), Ambernath

Result Register (A.T.K.T. Exam.)

Repeater

SEMESTER: I

PROGRAMME: Bachelor of Commerce

Sr. No.	Roll No.	Seat No.	Name	(Intro	duction	& Fin	ancial	i	: Tools in iomics	ve E	nistrati Ethics	to Bu	luction siness stics-I	Etique	iness ettes & orate	Nego Sk	tiation (ills	Comn	iness nunicat Skills I	Know	lian rledge tem		lian itution		SS	Total Marks	Sum CG	Credits Earned	SGPA	Grade
				IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30		SEE 12/30		SEE 12/30		SEE 12/30				SEE 12/30		SEE 12/30				SEE 12/30					
60	****	24014	/ JAISWAL PALAK SUNIL SUMITRA	\$09	\$12	\$14	\$13	\$10	13	\$14	\$14	\$12	\$14	\$10	\$12	\$10	\$12	\$10	\$12	\$09	\$13	\$14	\$12	\$20	\$24	283	108	22.0	4.91	Р
61	****	24022	/ RAJPUT NIKITA GURESH SUNITA	\$09	\$13	\$14	\$12	\$12	\$12	\$14	\$13	\$09	13	\$10	\$12	\$13	\$12	\$11	\$13	\$09	\$12	\$12	\$12	\$20	\$28	285	106	22.0	4.82	Р
62	****	24026	/ YADAV SHEETAL BAJRANGI SUNITA	\$09	\$12	\$14	12	\$10	\$12	\$14	\$12	\$09	12	\$11	\$12	\$12	\$12	\$10	\$12	\$08	\$20	\$12	\$12	\$12	\$13	262	98	22.0	4.45	Р
63	****	24027	ADEY CHANDANKUMAR BABU SHAINABAI	\$12	\$12	\$14	\$13	\$10	14	\$13	\$12	\$13	\$15	\$09	\$12	\$08	\$12	\$10	\$12	\$08	\$12	\$11	12	\$15	\$21	270	104	22.0	4.73	Р
64	****	24072	MUJAWAR HUMER RAFIQ SHAMA	\$12	13	\$15	18	\$10	\$15	\$12	\$12	\$10	\$16	\$08	12	\$08	15	\$10	12	\$10	16	\$11	18	\$15	\$20	288	114	22.0	5.18	С
65	****	24080	QURESHI ALTAMASH MUNNAWAR ALI ANJUMARA	\$11	\$12	\$10	\$27	\$10	12	\$13	\$12	\$11	\$12	\$10	\$12	\$08	\$12	\$10	\$12	\$09	\$12	\$13	\$12	\$16	\$24	280	110	22.0	5.00	С
66	****	24089	JAISWAR DIVESH ASHOK SHANTI	\$13	ABS	\$11	13	\$10	\$12	\$13	\$12	\$12	ABS	\$08	\$12	\$09	\$12	\$10	\$12	\$08	12	\$13	\$12	\$18	\$24	246	86	18.0		F